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4. The diagram shows a pointer which spins about the centre of a fixed disc. 

When the pointer is spun, it stops on one of the numbers 1, 2, 3 or 4.

The probability that it will stop on one of the numbers 1 to 3 is given in the table.

Magda is going to spin the pointer once.

(a) Work out the probability that the pointer will stop on 4.

...............................

(2)

(b) Work out the probability that the pointer will stop on 1 or 3.

...............................

(2)

Omar is going to spin the pointer 75 times.

(c) Work out an estimate for the number of times the pointer will stop on 2.

...............................

(2)

(Total 6 marks)

Number 1 2 3 4

Probability 0.35 0.16 0.27

1. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 3H Q4:  6 Marks
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4. The diagram shows a pointer which spins about the centre of a fixed disc. 

When the pointer is spun, it stops on one of the numbers 1, 2, 3 or 4.

The probability that it will stop on one of the numbers 1 to 3 is given in the table.

Magda is going to spin the pointer once.

(a) Work out the probability that the pointer will stop on 4.

...............................

(2)

(b) Work out the probability that the pointer will stop on 1 or 3.

...............................

(2)

Omar is going to spin the pointer 75 times.

(c) Work out an estimate for the number of times the pointer will stop on 2.

...............................

(2)

(Total 6 marks)

Number 1 2 3 4

Probability 0.35 0.16 0.27
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Answer ALL TWENTY TWO questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

Without sufficient working, correct answers may be awarded no marks.

1. Find the value of 

...........................

2. A bag contains red discs, black discs and white discs.
 The number of black discs is equal to the number of white discs.
 Selina is going to take a disc at random from the bag.
 The probability that she will take a red disc is 0.6

 Work out the probability that she will take a black disc.

...........................

Q1

(Total 2 marks)

Q2

(Total 2 marks)

3 6 4 8
5 6 3 2

. .

. .
×
−

2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 3H Q2:  2 Marks

3
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Answer ALL TWENTY FIVE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 A box contains some coloured cards.
 Each card is red or blue or yellow or green.
 The table shows the probability of taking a red card or a blue card or a yellow card.

Card Probability

Red 0.3

Blue 0.35

Yellow 0.15

Green

 George takes at random a card from the box.

 (a) Work out the probability that George takes a green card.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)
 George replaces his card in the box.
 Anish takes a card from the box and then replaces the card.
 Anish does this 40 times.

 (b) Work out an estimate for the number of times Anish takes a yellow card.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 1 is 4 marks)

Do NOT write in this space.

3. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 3HR Q1:  4 Marks



4. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q1:  4 Marks

4
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2 Here is a fair 5-sided spinner.

Red

Red Blue

Blue Green

Hans spins the spinner 30 times.

Work out an estimate for the number of times the spinner lands on Red.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 2 marks)

3

Diagram NOT 
accurately drawn

15 cm

26 cm

A cylinder has a diameter of 15 cm and a height of 26 cm.

Work out the volume of the cylinder.
Give your answer correct to 3 significant figures.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm3

(Total for Question 3 is 3 marks)

5. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2012, 3H Q2:  2 Marks
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Answer ALL TWENTY THREE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 A bag contains only red bricks and blue bricks.
 There is a total of 20 bricks in the bag.

 The probability that a brick taken at random from the bag will be red is 2
5

 How many blue bricks are there in the bag?

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 3 marks)

2 Pritam, Sarah and Emily share some money in the ratios 3 : 6 : 4
 Sarah gets $15 more than Emily.

 Work out the amount of money that Pritam gets.

$ .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 3 marks)

6. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2015, 4H Q1:  3 Marks

3
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Answer ALL TWENTY FOUR questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 In a sale, normal prices are reduced by 15%.
 The normal price of a television was $640

 Work out the sale price of the television. 

$ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 3 marks)

2 John throws a biased coin 120 times.

 It shows heads 90 times.

(a) John throws the coin once more.
  Work out an estimate for the probability that the coin shows tails.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Carly throws the same coin 200 times.

(b) Work out an estimate for the number of times the coin shows tails.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 2 is 4 marks)

7. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 4H Q2:  4 Marks
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2 (a) Factorise fully  2x2 – 4x

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
(2)

 A = 2p + 3q

 (b) Work out the value of p when A = 32 and q = 7

p = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 2 is 5 marks)

3 There are 50 marbles in a bag.
 35 of the marbles are brown.

 Otti takes at random a marble from the bag.
 He records the colour of the marble and puts the marble back in the bag.

 He does this 300 times.

 Work out an estimate for the number of brown marbles he takes.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

(Total for Question 3 is 2 marks)

8. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3HR Q3:  2 Marks

Leave 
blank

5

*H34885A0524* Turn over

4. A bag contains some beads.
 The colour of each bead is red or green or blue.
 Binita is going to take a bead at random from the bag.
 The probability that she will take a red bead is 0.4
 The probability that she will take a green bead is 0.5

 (a) Work out the probability that she will take a blue bead.

..........................................
(2)

 (b) There are 80 beads in the bag.
  Work out the number of red beads in the bag.

..........................................
(2)

5. (a) Cheng invested 3500 dollars.
  At the end of one year, interest of 161 dollars was added to his account.

  Express 161 as a percentage of 3500

...................................... %
(2)

 (b) Lian invested an amount of money at an interest rate of 5.2% per year.
  After one year, she received interest of 338 dollars.

  Work out the amount of money Lian invested.

.............................. dollars
(3) Q5

(Total 5 marks)

Q4

(Total 4 marks)

9. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 4H Q4:  4 Marks
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2 

 The diagram shows a circle inside a rectangle.

 Work out the area of the shaded region.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .cm2

(Total for Question 2 is 3 marks)

3 A bag contains only red counters, blue counters and yellow counters.
 The number of red counters in the bag is the same as the number of blue counters.

 Mikhail takes at random a counter from the bag.
 The probability that the counter is yellow is 0.3

 Work out the probability that the counter Mikhail takes is red.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 3 is 3 marks)

8 cm

32 cm

17 cm

Diagram NOT 
accurately drawn

10. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4H Q3:  3 Marks

1'#P'+

O.#&R

U

!"#$%&&'%$&$!

$F

* _&+5L'+8(%2M+'&.#(8'+5(%#&8.'+<+Q%5L+#+*@#.'+?#@5-(+-?
+
F
D

F +
#&2+@'&5('+6GM+G7;

!F+ J+O#8+@-&5#%&*+DG+@-.-,('2+O'#2*;
+ !..#+%*+8-%&8+5-+5#R'+#5+(#&2-$+#+O'#2+?(-$+5L'+O#8;
+ 3L'+*#/*M+a0L'+=(-O#O%.%5/+5L#5+4+Q%..+5#R'+#+('2+O'#2+%*+G;AXb

+ !"=.#%&+QL/+!..#+%*+Q(-&8;
+ V-,+$,*5+*L-Q+Q-(R%&8+5-+`,*5%?/+/-,(+#&*Q'(;

+ +;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;

+ +;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;

+ +;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;

P$

I<'0-=*$*.-;N1K

O

y

x5

5

10

15

20

10 15 20

T

P!

I<'0-=*J*.-;N1K

11. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2009, 3H Q4:  2 Marks
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4. Here is a 4-sided spinner.

The sides of the spinner are labelled 1, 2, 3 and 4.

The spinner is biased.

The probability that the spinner will land on each of the numbers 1, 2 and 3 is given in

the table.

(a) Work out the probability that the spinner will land on 4

..........................

(2)

Tom spun the spinner a number of times.

The number of times it landed on 1 was 85

(b) Work out an estimate for the number of times the spinner landed on 3

..........................

(1) Q4

(Total 3 marks)

Number

Probability

1

0.2

2

0.1

3

0.4

4

12. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 4H Q4:  3 Marks
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4 Maisie plays a game.
 Each time she plays, she can win a prize of $1 or $5 or $10
 When she does not win one of these prizes, she loses.
 The table gives the probability of winning each of the prizes.

Prize Probability

$1 0.50

$5 0.15

$10 0.05

 Maisie plays the game once.

 (a) Work out the probability that Maisie loses.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Maisie plays the game 40 times.

  (i) Work out an estimate for the number of $5 prizes she wins.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

  (ii) Work out an estimate for the total value of the prizes she wins.

$.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 4 is 7 marks)

13. [7 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 3HR Q4:  7 Marks
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14. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 4H Q5:  4 Marks
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6. In a club, of the members are left-handed and of the members wear glasses.

A member is chosen at random.

Stavros says “The probability that this member is left-handed or wears glasses is ”

Is he correct?

..........................

Explain your answer.

..............................................................................................................................................

..............................................................................................................................................

7. The diagram shows a triangle LMN.
MN = 15 cm.  LN = 8 cm.
Angle LNM = 90°.

(a) Calculate the length of ML.

.................... cm
(3)

(b) Write down the value of tan x°.

..........................
(1)

3
4

1
4

1
2

Turn over*N22125A0720*

Q7

(Total 4 marks)

Q6

(Total 2 marks)

Diagram NOT
accurately drawnx°

M

L

15 cmN

8 cm

15. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2005, 4H Q6:  2 Marks
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16. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q9:  4 Marks
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8 A box contains toy cars.
 Each car is red or blue or black or silver.

 Emily takes at random a car from the box.
 The table shows the probabilities that Emily takes a red car or a blue car or a black car.

Colour of car Probability

red 0.20

blue 0.05

black 0.15

silver

 (a) Work out the probability that Emily takes a silver car.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Emily puts the car back into the box.
 There are 6 blue cars in the box.

 (b) Work out the total number of cars in the box.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 8 is 4 marks)

17. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q8:  4 Marks
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18. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2007, 4H Q8:  6 Marks


